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3_:':*0+170-t+§-&'-t2
T=Uy+a-t
v?P=0v}+2-q (z — x0)
— f-
¥(t) = — instantaneous

dt
AT = Vay At, AV = day At

— 2 2
v =/ v+ vy

vy =vcosb, vy, = vsinb

0 = tan (v, /v,), R = v?sin26;/g

TAc = TAB + TBc,VAc = VaB + UBc
W:FH-.T:FCOSO-:L'

1
KE = §m1)2 =p?/2m
PE = mgh (close to earth)

Wooncons = AKE + APE
M
PE = —GmT, or PE =

AW
P=—
At

mgh

(1+ h/RE)

Fo. = md=m%

dt
Fup = —Fa

W =m(§— a)

Fp, <p-Fy

equilibrium : Fnet = Z F=0

all

1 h
radians : Af = w

2
v
Fe =m— = ma,

radius

r
2mr 2nrf =rw

’l} — — —
T

M Rs\®
F:Gm2 = gsm —S>
r

27 radians = 360°

G = 6.67 x 107" Nm? /kg”
g=9.8m/s* a, = —g

RE = 6.37 X 106 m
1 km = 0.62 mi

1 mile = 1.61 km

p=mt, Ap=py — p; = FAt, pi; + Doi = D1y + Day;

Pliz + P2iz = Pifz + P2fz, Pliy T P2iy = Pify + P2fy

2mavg; + v1;(my — M)

’Ulf:
m1+m2

, Vof =

_2myvy; — vgi(my — my)

m1+m2

V=TW, 4 =T

1
wr=w; +at, 0 =wit+ §at2’ w}% = w? + 200

1 2
T="Frsing=Fir, 7=1I0, I =S}, ] = MR I=_MR’

5

MX e =Ymiz;, MYey = YXmyy;, M = Xm,;

Ron = (Xems Yem), PE = MgYem
K Broation = 316, K Erou = 5 Mo, + £ I
L=1Iw, AL=L;—-L;=71At, L= Ly
Y =0, YiFi, =0, X;F, =0
I understand that giving or receiving information about the questions or solutions for
this exam to or from anyone other than a course staff member before all students have

finished the exam is not allowed. Penalties for breaking this rule may include failure in
the course and expulsion from the University.
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